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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-IV « EXAMINATION — WINTER ¢ 2014

Subject Code: 340606 Date: 05-12-2014
Subject Name: Quantity Survey and Costing
Ti Time: 02:30 pm - 05:30 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

(a) State the various methods of approximate estimate and explain service unit
method.
(b) Enlist qualities of good estimator and state importance of estimate.

(@) Give the unit of measurement for the following items.
(1) Surface dressing(2) Honey comb brick masonry(3)Floor finish (4) Pipe
work (5)Pointing (6)M.H.cover (7)G.l.ridge
(b)  Write short notes on : (1)Day-Work (2) Provisional sum(3)Contigencies
OR
(b)  Write short notes on: (1) Prime cost(2) Task-work(3)Spot-item

(@) Derive rate analysis for Ashlar masonry in CM(1:4)
(b)  Write detailed specification for W.B.M. road.
OR
(a) Derive rate analysis for 1% coat bituminous painting.
(b)  Write detailed specification for stone masonry in CM(1:5).

(@) Work out the quantity of earthwork for a circular soak pit having 1.8 mt.
diameter and 3.0 mt. depth, also Work out the quantity for open joint masonry
of 20cm thickness for above stated soak pit.

(b) Find out the weight and painting area of an angle 75*50*8 mm having length
3.5 mt and 8mm thick gussets plates having size 60*40 cm.

OR
Calculate quantity of following items of septic tank as shown in fig.no.-1
(1)Excavation for foundation in total quantity
(2)C.C. (1:3:6) plain concrete
(3)Brick masonry in CM(1:6)
(4)R.C.C. slab(1:2:4)

(@) Work out volume of earthwork by mean sectional area method from following
given data:
CH.mt. | 0 20 40 60 80 100 120 140

GLmt. |69.15 | 69.30 | 69.40 | 69.49 | 70.00 |69.79 |69.82 |69.91
Formation width=12.0mt.,side slopel:2,
formation level at 80.0mt chainage = 70.0mt
(b) Work out quantity of earthwork by prizmoidal formula for a road section
having following given data.
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(a)

(b)

| GLmt. [117.20 [117.90 [ 118.00 [ 118.80 |119.00 |120.00 [119.10
Formation width =10.00 mt., side slope 2:1in filling,1.5:1 in cutting,formation
RL at 100.00mt chainage=118.00mt., formation has no longitudinal slope.
OR
Details of road as given under: 07

CH |60 |90 |120 |150 |180 |210 | 240 | 270 |300 | 330 |360
.mt

GL | 995 [99. [99. [99. |99. |99. |98. |98. [98. |98. |98.
mt. |5 50 |40 [35 [20 |00 |80 |65 |60 |40 |20

Formation RL of road is 99.00mt,road width is 7.50 mt. and side slope is
1:1(H:V)in cutting and in banking. Find quantity of earthwork in cutting only.
Work out quantity of earthwork by prizmoidal formula for a road section 07
having following given data.

Formation width=12.0mt.,side slope for banking2:1(H:V),for cutting 1:1(H:V)
formation RL at 0.0mt chainage = 79.70mt.The formation line rises 10cm at
every 30mt.length.

CHmt. | 0 30 60 90 120 150 180
GLmt. | 80.20 |80.10 |7990 |[79.90 [79.85 |79.80 |79.80
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. FIG. 1 SEPTIC TANK
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CH.mt. | 0 20 40 60 80 100 [120 [140
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CH.mt. [ 100 120 140 160 180 200 220
GLmt. |117.20 [117.90 [118.00 |118.80 | 119.00 | 120.00 | 119.10
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CH. | 60 90 120 150 180 210 240 270 300 330 360
gi_ 99.55 | 99.50 | 99.40 | 99.35 | 99.20 | 99.00 | 98.80 | 98.65 | 98.60 | 98.40 | 98.20
mt.
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